
1) An amount was increased by 7.2% to 
$133.00. Find the original amount.

Answer: ____________

2) b

a o c
Measure angle boa 

Answer: ____________

3) 20/
11 ÷ 9/3

Answer: ____________

4) 20/
11 ÷ 9/3

Answer: ____________

5) 2913/20 x 2912/13

Answer: ____________

6)

'Name the type of angle.

Answer: ____________

7) 38
Find Volume of 

                        Rectangular Pyramid 
36

37

Answer: ____________

8) 1916 + (-4515)

Answer: ____________

9) 20/15 x 18/4

Answer: ____________

10) 13 x 17 - 14 + 1

Answer: ____________

11)
39  Find Volume of 
               38       Cylinder 

Answer: ____________

12) Increase 11.8 by 69%

Answer: ____________

13) Increase 11.8 by 69%

Answer: ____________

14) Round 9.94329611119007 to the 
nearest whole number.

Answer: ____________

15) 32.3 x 92.3

Answer: ____________
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16) A number was shared in the ratio 
6:60. The smaller share was 86. 
What was the total amount shared?

Answer: ____________

17)

A B = 70
Find the Angle at side A.

Answer: ____________

18) Find the percentage change from 152 
to 380

Answer: ____________

19) Decrease 485 by 88%

Answer: ____________

20) 97 x 1000

Answer: ____________

Total: ___ / 20
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Answers:

1) $124.07 2) 150 3) 20/33 4) 20/33 5) 88757/260 6) Straight 7) 16872

8) -2599 9) 6 10) 11) 44230.482969891 12) 19.942 13) 19.942 14) 10

15) 2981.29 16) 946 17) 110 18) 150% 19) 58.2 20) 97000
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